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/ Match the letters and numbers to create words.
£ Read the sentences.
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Then the LorRD God a man. He
7 13 14 11 6 4 11T 2 4 6

him out of the of the ground. He breathed the
4 17 15 16

of life into him. And the became a
3 14 6 2 16 9 117 2 12

living person. Then the LORD made a . He
8 13 4 19 13 11 2 12

made her from the He had tfaken out of the man. And He
14 10 3

brought her to Adam. named his wife
1 4 2 11 5 18 6
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(Hidden Words)

/ Use the Word List to complete the sentences.
Circle each word in the puzzle below.

God put Adam and Eve in charge of the Garden of Eden. God gave them one rule.

Do not eat the fruit from oTe tr . The serpent said to Eve, “Did God say you

cannot eat the fruit from any free in the garden? You will not die if you eat it. When

o)

you do, your eyes will be open. You will be like God. You will know good and evil.”

E_ thought the fruit looked good. She thought it would make her wise. She ate

some of the f . Adam was with her. Eve gave some fruit to A

and he ate it. They saw that they did not have any clothes. They used some leaves to
coverup. They hid from God. God said, “Where are you?" Adam said, "I was scared
because I don't have any clothes. So 1 D___ God said, *How do you know you

don’t have any clothes?” Adam said, “Eve gave me some fruit from the tree, and 1

ateit.” Eve said, “The serpent tricked me, and 1 QA the fruit.” Adam and Eve
had S . God still | them, but they could not stay in
QQ‘-vg¢ed
the garden. God made some clothes for them and sent them out of the garden.
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